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. What is the place value of 6 in 5,623?
a) 6000

b) 600

c) 60

d) 6

Answer: b) 600

. Which is the smallest 4-digit number?

a) 999

b) 1000

c) 9999

d) 1111
Answer: b) 1000

. What comes just before 3000?

a) 3001
b) 2999
c) 3010
d) 2980
Answer: b) 2999

. What is the successor of 4,999?

a) 5,000
b) 4,998
c) 5,001
d) 4,900
Answer: a) 5,000

. Which number has 4 in the hundreds

place: 3,452?
a)3
b) 4
c)2
d)5
Answer: b) 4

. Which number is greater: 4,298 or 4,829?

a) 4,298

b) 4,829

c) Both equal

d) None
Answer: b) 4,829

Maths:

10.

11.

12.

2,000 +500+60+9=
a) 2,569

b) 2,659

c) 2,509

d) 2,469

Answer: a) 2,569

10 more than 4,987 is:
a) 4,997

b) 5,000

c) 4,996

d) 5,010

Answer: a) 4,997

What is the expanded form of 4,206?
a) 4000 + 200 + 6

b) 400 + 2000 + 6

c) 4+ 200+ 600

d) 4000+ 20+ 6

Answer: a) 4000 + 200 + 6

Which of these is even?
a) 375

b) 422

c) 519

d) 739

Answer: b) 422

234 + 678 =

a) 912

b) 902

c) 914

d) 908
Answer: a) 912

What is 900 - 478?
a) 422

b) 432

c) 442

d) 412

Answer: a) 422



13.

14.

15.

16.

17.

18.

4,532 +1,278=12x4 =
a) 48

b) 36

c)52

d) 44

Answer: a) 48

81+9=

a)8

b) 9

c)7

d)6
Answer: b) 9

What is the product of 6 and 7?
a)42

b) 36

c) 49

d) 40

Answer: a) 42

Which of the following is not a multiple of 5?
a) 25

b) 35

c)42

d) 50

Answer: c) 42

What is 240 + 6?
a) 40

b) 36

c) 30

d) 42

Answer: a) 40

7x___ =56
a)6
b) 7
c)8
d)9
Answer: c) 8

19.

20.

21

22.

23.

24.

Division is the inverse of:
a) Addition

b) Subtraction

c¢) Multiplication

d) Fractions

Answer: c) Multiplication

If9x5=45,then45+9=
a)5

b) 4

c)6

d)3

Answer: a) 5

. What is the remainder in 22 + 5?

a)l
b) 2
c)3
d)o
Answer: b) 2

O0x5=

a)o

b) 5

)1

d) 10
Answer: a)0

A rectangle has how many sides?
a)3

b) 4

c)5

d)6

Answer: b) 4

How many corners does a triangle have?
a)4

b) 3

c)5

d)2

Answer: b) 3



25

26.

27.

28.

29

30.

. A square has how many equal sides?

a)l
b) 2
c)3
d)4
Answer: d) 4

Which shape has no corners?
a) Square

b) Triangle

c) Rectangle

d) Circle

Answer: d) Circle

A cube has how many faces?
a)4

b) 6

c)8

d) 10

Answer: b) 6

A straight line has:
a) Length

b) Width

c) Volume

d) Area

Answer: a) Length

. What is the shape of a ball?

a) Cube

b) Cone

c) Sphere

d) Cylinder
Answer: c) Sphere

What is 1/2 of 20?
a)5

b) 15

c)10

d)8

Answer: c) 10

31.

32.

33.

34.

35.

36.

Which fraction is the smallest?
a)1/2

b) 1/3

c)1/4

d) 1/5

Answer: d) 1/5

What is 1/4 of 16?
a)2

b) 3

c)4

d)5

Answer: c) 4

Which is the numerator in 3/7?
a)7

b) 3

)1

d) 10

Answer: b) 3

Which of the following is equal to 2/4?
a)1/2

b) 1/4

c)2/2

d) 3/4

Answer: a) 1/2

3/3 is equal to:
a)o

b) 1

c)2

d) 3

Answer: b) 1

How many centimeters arein 1
meter?

a) 10

b) 100

¢) 1000

d) 10000

Answer: b) 100



37.

38.

39.

40.

41.

42.

Which unit is used to measure liquid?
a) Grams

b) Litres

c) Meters

d) Kilograms

Answer: b) Litres

lkg=__ grams
a) 100

b) 10

c) 1000

d) 10000
Answer: c) 1000

Which of these is the lightest?
a)500¢g

b) 2 kg

c)1kg

d) 100 g

Answer: d) 100 g

What is used to measure length?
a) Thermometer

b) Ruler

c) Clock

d) Beaker

Answer: b) Ruler

Which is longer: 1 km or 500 m?
a)1km

b) 500 m

c) Both equal

d) Cannot say

Answer: a) 1 km

250 ml+ 250 ml =
a) 250 ml
b) 500 ml
c) 1000 ml
d) 750 ml
Answer: b) 500 ml

43.

44,

45.

46.

47.

48.

Which unit is used to weigh a packet
of sugar?

a) Metres

b) Litres

c) Grams

d) Seconds

Answer: c) Grams

How many hours are there in a day?
a) 10

b) 12

c) 24

d) 48

Answer: c) 24

1 hour=__ minutes

a) 60

b) 100

c) 120

d) 30

Answer: a) 60

If school starts at 9:00 AM and ends at
3:00 PM, how many hours is it?

a) 5 hours

b) 6 hours

c) 7 hours

d) 8 hours

Answer: c) 6 hours

How many seconds are in 1 minute?
a) 100

b) 30

c) 60

d) 10

Answer: c) 60

Quarter past 2 means:
a) 2:00

b) 2:30

c) 2:15

d) 2:45

Answer: c) 2:15



49.

50.

51.

52.

53.

54,

Half past 6 means:
a) 6:15

b) 6:30

c) 7:00

d) 5:30

Answer: b) 6:30

If you have X100 and spend %65, how
much is left?

a) X45

b) X55

c) X35

d) X25

Answer: c) X35

R10+X20+X50 =
a) 270

b) X80

c) X60

d) 290

Answer: a) X80

What is the value of 5 ten-rupee notes?
a) %50

b) X500

c) X10

d) X5

Answer: a) X50

The cost of a toy is X75. You give X100.
How much change should you get back?
a) X20

b) X25

c) X15

d) %30

Answer: b) X25

If you buy 2 pens for X15 each, total cost is:

a) X25
b) 230
c) X20
d) %40
Answer: b) Z30

55.

56.

57.

58.

59.

60.

Which of these is the least amount?
a) X2

b) X5

c) X10

d) %1

Answer: d) X1

A bar graph shows:

a) Numbers only

b) Letters only

c) Data in bars

d) Shapes only
Answer: c¢) Data in bars

Tally marks are used for:
a) Drawing pictures

b) Writing stories

c) Counting

d) Reading time
Answer: c¢) Counting

Which is the most used tally mark
group?

a)/l/

b) ////

o) /1111

d)//

Answer: c) /////

4 sets of tallies (////) equals:
a)4

b) 5

c) 10

d) 20

Answer: d) 20

What comes next in the pattern: 2, 4,
6,8 __?

a) 10

b)9

c)12

d)7

Answer: a) 10



61. Identify the missing number: 5, 10, __, 20

62.

63.

64.

65.

a) 12
b) 15
c)18
d) 25
Answer: b) 15

Which figure comes next in the
pattern:e, A, e, A, °?

a)e

b) A

C)m

d) ¢

Answer: a) ®

If3x2=6,then6+2=
a)2

b) 4

c)3

d)1

Answer: c) 3

Which number is 2,000 more than 5,4677
a) 7,467

b) 5,667

c) 7,657

d) 7,467

Answer: a) 7,467

The sum of the largest 4-digit number and
the smallest 3-digit number is:

a) 10,099

b) 10,999

c) 9,999

d) 10,000

Answer: a) 10,099

66. A rectangle has a length of 12 cm and
width of 8 cm. Find its perimeter:
a)40cm
b) 48 cm
c) 60 cm
d) 100 cm
Answer: b) 40 cm

67. A square has an area of 64 sq. cm.
What is its side length?
a)6cm
b) 8 cm
c) 16 cm
d)4cm
Answer: b) 8 cm

68. Which fraction is equivalent to 3/4?
a)6/8
b) 4/6
c)2/3
d) 8/12
Answer: a) 6/8

69. Half of a number is 24. What is the
number?
a) 12
b) 36
c) 48
d) 60
Answer: c) 48

70. Perimeter of a square is 36 cm. What
is the length of one side?
a)6cm
b) 9 cm
c)12cm
d) 8cm
Answer: a) 9 cm



Science:

Which part of the plant makes food?
a) Stem

b) Root

c) Leaf

d) Flower

Answer: c) Leaf

Which gas is released during photosynthesis?
a) Carbon dioxide

b) Oxygen

c) Nitrogen

d) Hydrogen

Answer: b) Oxygen

Which plant stores food in its roots?
a) Potato

b) Carrot

c) Ginger

d) Onion

Answer: b) Carrot

Which part of the seed grows into a new plant?
a) Cotyledon

b) Embryo

c) Seed coat

d) Fruit

Answer: b) Embryo

Which of these is a climber?
a) Mango

b) Money plant

c) Sunflower

d) Rose

Answer: b) Money plant

Plants that grow in deserts have:
a) Broad leaves

b) Spines

c) Weak stems

d) No roots

Answer: b) Spines

10.

11.

12.

Which plant traps insects for food?
a) Cactus

b) Pitcher plant

c) Neem

d) Tulsi

Answer: b) Pitcher plant

The flat part of the leaf is called:
a) Lamina

b) Petiole

c) Vein

d) Midrib

Answer: a) Lamina

Which of these plants reproduces
from spores?

a) Mango

b) Fern

c) Tomato

d) Sunflower

Answer: b) Fern

Which is a fibrous root plant?
a) Mango

b) Pea

c) Maize

d) Neem

Answer: c) Maize

Animals that eat only plants are
called:

a) Carnivores

b) Omnivores

c¢) Herbivores

d) Scavengers

Answer: c) Herbivores

Which of these animal’s lays eggs?
a) Cat

b) Cow

c) Hen

d) Dog

Answer: c) Hen



13.

14.

15.

16.

17.

18.

Which of these animals has hollow

bones to help in flying?

a) Bat

b) Crow

c) Sparrow

d) Ostrich

Answer: c) Sparrow

Which animal breathes through skin and lungs?
a) Frog

b) Fish

c) Snake

d) Turtle

Answer: a) Frog

Which animal sleeps hanging upside down?
a) Koala

b) Bat

c) Sloth

d) Monkey

Answer: b) Bat

What helps a camel survive in the desert?
a) Thick fur

b) Webbed feet

c) Hump storing fat

d) Long tail

Answer: c) Hump storing fat

Which animal is called the ship of the desert?
a) Horse

b) Camel

c) Donkey

d) Elephant

Answer: b) Camel

Which of these is a mammal but lays eggs?
a) Whale

b) Dolphin

c) Platypus

d) Kangaroo

Answer: c) Platypus

19.

20.

21.

22

23.

24,

Which of these animals uses a radula to
eat?

a) Octopus

b) Snail

c) Starfish

d) Earthworm

Answer: b) Snail

The larva of a butterfly is called:
a) Pupa

b) Nymph

c) Caterpillar

d) Maggot

Answer: c) Caterpillar

Which organ controls all other organs?
a) Heart

b) Brain

c) Lungs

d) Liver

Answer: b) Brain

. The bone protecting the brain is:

a) Ribcage

b) Skull

c¢) Backbone

d) Pelvis
Answer: b) Skull

Which organ pumps blood?
a) Brain

b) Heart

c) Lungs

d) Kidney

Answer: b) Heart

Digestion of food starts in:
a) Stomach

b) Mouth

c) Small intestine

d) Large intestine
Answer: b) Mouth



25.

26.

27.

28.

29.

30.

Which system helps us move?
a) Skeletal

b) Digestive

¢) Muscular

d) Bothaandc

Answer: d) Bothaand c

How many chambers are there in the
human heart?

a)2

b) 3

c)4

d)5

Answer: c) 4

Which part of the eye controls the amount
of light entering?

a) Lens

b) Retina

c) Iris

d) Pupil

Answer: c) Iris

Which organ filters blood?
a) Liver

b) Kidney

c) Lungs

d) Heart

Answer: b) Kidney

Which is the longest bone in the human body?

a) Humerus

b) Femur

c) Tibia

d) Radius
Answer: b) Femur

Which sense organ helps us maintain balance?

a) Nose

b) Ear

c) Eye

d) Skin
Answer: b) Ear

31.

32.

33.

34.

35.

36.

Which of these is a renewable
resource?

a) Coal

b) Petroleum

¢) Wind

d) Natural gas

Answer: c) Wind

Which of these causes air pollution?
a) Growing trees

b) Using bicycles

c¢) Burning garbage

d) Rain

Answer: c) Burning garbage

Which layer protects us from harmful
sun rays?

a) lonosphere

b) Stratosphere

c) Ozone layer

d) Troposphere

Answer: c) Ozone layer

Which is a biodegradable material?
a) Plastic

b) Iron

c) Banana peel

d) Glass

Answer: c) Banana peel

Which is NOT a natural source of
water?

a) River

b) Lake

c) Tap

d) Pond

Answer: c) Tap

Which gas is the most abundant in
air?

a) Oxygen

b) Carbon dioxide

c) Nitrogen

d) Hydrogen

Answer: c) Nitrogen



37.

38.

39.

40.

41.

42.

43.

Which is a man-made resource?
a) Forest

b) Sun

c) Dam

d) Waterfall

Answer: c) Dam

Cutting trees on a large scale is called:
a) Reforestation

b) Afforestation

c) Deforestation

d) Plantation

Answer: c) Deforestation

Which is NOT a source of energy?
a) Sun

b) Wind

c) Water

d) Plastic

Answer: d) Plastic

Which of these is a non-renewable
energy source?

a) Solar energy

b) Coal

c) Wind

d) Water

Answer: b) Coal

Which planet is known as the Red Planet?
a) Earth

b) Mars

c) Venus

d) Jupiter

Answer: b) Mars

Which is the largest planet in the solar system?
a) Saturn

b) Jupiter

c) Uranus

d) Neptune

Answer: b) Jupiter

The sunis a:

a) Planet

b) Star

c) Satellite

d) Asteroid
Answer: b) Star

44,

45.

46.

47.

48.

49.

Which planet has rings around it?
a) Jupiter

b) Mars

c) Saturn

d) Venus

Answer: c) Saturn

Earth is the ___ planet from the sun:
a) 2nd

b) 3rd

c) 4th

d) 5th

Answer: b) 3™

The natural satellite of Earth is:
a) Sun

b) Moon

c) Mars

d) Venus

Answer: b) Moon

Which planet is closest to the sun?
a) Earth

b) Venus

c) Mercury

d) Mars

Answer: c) Mercury

The imaginary line that passes through

the center of the Earth is:
a) Orbit

b) Equator

c) Axis

d) Tropic

Answer: c) Axis

Which of these is a dwarf planet?
a) Venus

b) Pluto

c) Mars

d) Neptune

Answer: b) Pluto



56.

50. The time taken by the Earth to complete one
rotation is:
a) 12 hours
b) 24 hours
c) 30 days
d) 365 days
Answer: b) 24 hours

51. Which of these is NOT a type of force?
a) Push
b) Pull
c) Heat
d) Gravity
Answer: c) Heat

52. The force that pulls everything towards the
Earth is:
a) Magnetic force
b) Friction
c) Gravity
d) Muscular force
Answer: c) Gravity

53. Which simple machine is used in seesaws
and scissors?
a) Lever
b) Pulley
c) Inclined plane
d) Screw
Answer: a) Lever

54. A pulley helps in:
a) Cutting
b) Pushing
c) Lifting
d) Cooking
Answer: c) Lifting

55. Which is an example of renewable energy?
a) Coal
b) Petroleum
c) Solar power
d) Natural gas
Answer: c) Solar power

Which is a source of kinetic energy?
a) Stretched bow  b)Moving car

c) Battery d) Fuel

Answer: b) Moving Car

57.

58.

59.

60.

61.

62.

Friction always acts in:

a) The same direction as motion

b) Opposite direction to motion

c) Upward direction

d) Downward direction

Answer: b) Opposite direction to
motion

Which of these is NOT a simple
machine?

a) Pulley

b) Screwdriver

c) Bicycle

d) Wedge

Answer: c) Bicycle

Energy stored in food is:

a) Heat energy

b) Kinetic energy

c) Chemical energy

d) Electrical energy
Answer: c) Chemical energy

Which form of energy helps plants
make food?

a) Electrical energy

b) Light energy

c) Heat energy

d) Sound energy

Answer: b) Light energy

The process of water changing into
water vapor is called:

a) Condensation

b) Evaporation

c) Precipitation

d) Freezing

Answer: b) Evaporation

Clouds are formed by:

a) Melting

b) Evaporation

c) Condensation

d) Freezing

Answer: c) Condensation



63. Air occupies: 70. Which of these is NOT a property of

a) No space air?

b) Only small spaces a) Has weight

c) Space b) Has smell

d) Water space c) Occupies space
Answer: c) Space d) Exerts pressure

Answer: b) Has smell
64. The layer of air around the Earth is called:
a) Lithosphere
b) Hydrosphere
c) Atmosphere
d) Stratosphere
Answer: c) Atmosphere

65. Which of these gases is needed for burning?
a) Nitrogen
b) Oxygen
c¢) Carbon dioxide
d) Hydrogen
Answer: b) Oxygen

66. Which instrument measures rainfall?
a) Thermometer
b) Barometer
c¢) Rain gauge
d) Wind vane
Answer: c) Rain gauge

67. Water vapor cools and forms tiny drops of water in:
a) Melting
b) Condensation
c¢) Evaporation
d) Precipitation
Answer: b) Condensation

68. The sun rises in the:
a) West
b) South
c) North
d) East
Answer: d) East

69. Which of these is a cause of water pollution?
a) Planting trees
b) Throwing garbage in rivers
¢) Using rainwater
d) Cleaning wells
Answer: b) Throwing garbage in rivers



Choose the correct plural form of “child”:

a) childs

b) childrens

c) childes

d) children
Answer: d) children

Which sentence is in the past tense?
a) | will go to school.

b) I am going to school.

c¢) I went to school.

d) I go to school.

Answer: c) | went to school.

English:

Which is an adjective in this sentence: “She has

a beautiful dress”?
a) she

b) has

c) beautiful

d) dress

Answer: c) beautiful

Fill in the blank: “He ___ playing football yesterday.”

a)is

b) are

c) was

d) were
Answer: c) was

Which is a conjunction?
a) quickly

b) and

c) she

d) with

Answer: b) and

What is the opposite of “arrive”?
a) depart

b) come

c) stay

d) visit
Answer: a) depart

7.

10.

11.

12.

Identify the subject in the sentence:
“The dog barked loudly.”

a) barked

b) loudly

c) dog

d) the

Answer: c) dog

Pick the correct pronoun: “Ravi and |
went to the park. _ played cricket.”
a) We

b) They

c) He

d) She

Answer: a) We

Which sentence is in the future tense?
a) She is singing.

b) She sang a song.

c¢) She will sing a song.

d) She sings well.

Answer: c) She will sing a song.

Choose the correct punctuation: “Where
are you going”

a) Where are you going.

b) Where are you going!

¢) Where are you going?

d) Where are you going,

Answer: c) Where are you going?

Which of these words is a preposition?
a) above

b) dancing

¢) quickly

d) beautiful

Answer: a) above

Which word is a noun?
a) jump

b) happiness

c) loudly

d) running

Answer: b) happiness



13. Which is the correct form: “He ___ his

14.

15

16.

17.

homework before dinner.”
a) has done

b) have done

c) did done

d) does do

Answer: a) has done

Choose the correct article: “She
bought ___ apple.”

a)a

b) an

c) the

d) no article

Answer: b) an

. Which is a proper noun?

a) river

b) city

¢) Ganga

d) school
Answer: c) Ganga

Fill in the blank: “Neither Rohan
Ravi is coming.”

a)or

b) nor

c) and

d) but

Answer: b) nor

Which word is the verb in this
sentence: “They painted the wall”?
a) they

b) painted

c) wall

d) the

Answer: b) painted

18.

19.

20.

21.

22.

23.

hich word is spelled correctly?
a) beutiful

b) beautiful

c) beautifull

d) beautifool

Answer: b) beautiful

Choose the correct comparative form: “She is
____than her sister.”

a) tall

b) tallest

c) taller

d) most tall

Answer: c) taller

Which is a question word?
a) who

b) them

c) their

d) those

Answer: a) who

Find the synonym of “happy”:
a) sad

b) joyful

c) angry

d) tired

Answer: b) joyful

Find the antonym of “strong”:
a) weak

b) powerful

c) mighty

d) bold

Answer: a) weak

Which is a collective noun?
a) herd

b) dog

¢) animal

d) sheep

Answer: a) herd



24.

25.

26.

27.

28.

29.

30.

| have ___ friends.
a) much

b) many

c) lots

d) lot

Answer: b) many

What is the meaning of “gigantic”?
a) tiny

b) huge

c) dirty

d) smart

Answer: b) huge

Choose the correct pair:
a) mouse — mouses

b) foot — foots

c) tooth — teeth

d) child — childs
Answer: c) tooth — teeth

Pick the word that’s an adverb:
a) careful

b) carefully

c) caring

d) care

Answer: b) carefully

Choose the correct phrase: “Heran ___ the

road.”

a)on

b) into

c) across

d) for

Answer: c) across

What is the opposite of “noisy”?
a) peaceful

b) silent

c) calm

d) quiet

Answer: d) quiet

There are ___ apples in the basket.
a) much

b) many

c) most

d) lots

Answer: b) many

31. Choose the correct homonym: “The wind will

32.

33.

34.

35.

36.

___thekite”

a) blew

b) blow

c) blue

d) bloe

Answer: b) blow

Which is a pair of synonyms?
a) hot — cold

b) large — big

c) up —down

d) wet —dry

Answer: b) large — big

Which word completes the idiom: “As busy

asa___"?

a) bee

b) bird

c) dog

d) fox

Answer: a) bee

Which sentence uses a simile?

a) He is as brave as a lion.

b) He was tired.

c) She sings well.

d) They are playing.

Answer: a) He is as brave as a lion.

Choose the correct contraction: “She is

happy.”
a) Shes

b) She’s
c) She is’
d) Sh’es
Answer: b) She's

Fill in the blank: “I like to eat ice cream.’

a) will

b) would

c) shall

d) might

Answer: b) would

4



37.

38.

39.

40.

41.

42.

Which of these is a proper noun?
a) country

b) India

c) city

d) state

Answer: b) India

Find the correct plural: “box”
a) boxs

b) boxen

c) boxes

d) boxies

Answer: c) boxes

“The sun rises in the east.” What is the verb?

a) sun

b) rises

c) east

d)in

Answer: b) rises

Choose the correct punctuation: “Wow That’s

amazing”

a) Wow that’s amazing!

b) Wow! That’s amazing.

¢) Wow. That’s amazing?

d) Wow? That’s amazing!
Answer: b) Wow! That’s amazing.

Fill in the blank: “He ___ the ball very far.”
a) throw

b) throws

c) threw

d) throwing

Answer: c) threw

What is the plural of “sheep”?
a) sheeps

b) sheeves

c) sheep

d) sheepen

Answer: c) sheep

43,

44,

45,

46.

47.

48.

49,

Identify the adjective: “The tall boy won the race.”
a) tall

b) boy

c) won

d) race
Answer: a) tall

Which is a question tag?
a)isit?

b) are it?

c)isn’tit?

d) don’tit?

Answer: c) isn’t it?

Which is a helping verb?
a) has

b) go

c) play

d) walk

Answer: a) has

“The cat jumped ___ the table.”
a)in

b) under

c)on

d) for

Answer: c) on

Fill in the blank: “They _ completed the work.”
a)is

b) have

c) has

d) was

Answer: b) have

Which sentence is correctly punctuated?
a) he said, “hello”.

b) He said, “Hello.”

c¢) He said “hello.”

d) He said “Hello”.

Answer: b) He said, “Hello.”

Choose the correct verb form:

“The birds ____ singing in the morning.”
a)is

b) are

c) was

d) be

Answer: b) are



50.

51.

52.

53.

54,

55.

“She has lived here ___ five years.”
a) since

b) for

c) from

d) at

Answer: b) for

Choose the correct synonym for “quick”:
a) slow

b) fast

c) lazy

d) late

Answer: b) fast

Choose the correct antonym for “generous”:
a) kind

b) selfish

c) helpful

d) honest

Answer: b) selfish

Which sentence is in the present continuous
tense?

a) She ate dinner.

b) She is eating dinner.

c) She will eat dinner.

d) She eats dinner.

Answer: b) She is eating dinner.

Which word is a preposition?
a) quickly

b) behind

c) very

d) happy

Answer: b) behind

Which is an abstract noun?
a) table

b) honesty

c) teacher

d) pencil

Answer: b) honesty

56.

57.

58.

5%

60.

61.

“Choose the correct sentence:
a) | has a red pen.

b) I have a red pen.

c) I haved a red pen.

d) l am have a red pen.
Answer: b) | have a red pen.

What is the plural of goose?
a) gooses

b) geese

c) goosen

d) goosies

Answer: b) geese

Pick the correct sentence:

a) She don’t like apples.

b) She doesn’t like apples.

c) She isn’t like apples.

d) She not like apples.

Answer: b) She doesn’t like apples.

Fill in the blank:

“The teacher asked the students to keep
books on the table.”

a) their

b) there

c) they're

d) theirs

Answer: a) their

Choose the correct form:
“My friendand | ___ playing.”
a)am

b) is

c) are

d) was

Answer: c) are

Which word is a conjunction?
a) because

b) near

¢) quickly

d) bright

Answer: a) because



62. Pick the correct past tense of “teach”:
a) teached
b) taught
c) teachen
d) teacheded
Answer: b) taught

63. What type of sentence is this?
“Please close the door.”
a) declarative
b) interrogative
c) imperative
d) exclamatory
Answer: c) imperative

64. Choose the correct sentence:
a) He don’t know the answer.
b) He doesn’t knows the answer.
c) He doesn’t know the answer.
d) He doesn’t knew the answer.

Answer: c) He doesn’t know the answer.

65. Fill in the blank:
“I went to the park __ my friends.”
a)and
b) or
c) but
d)if
Answer: a) and

66. Which is a simile?
a) Her smile shines like the sun.
b) Her smile is shining.
c) Her smile shines brightly.
d) She smiles beautifully.

Answer: a) Her smile shines like the sun.

67. Choose the correct pronoun:
“ ___is my brother.”

a) Him

b) He

c) His

d) Her

Answer: b) He

68.

69.

70.

Identify the correct sentence:

a) Me and my friend went to school.

b) My friend and me went to school.

c) My friend and | went to school.

d) I and my friend went to school.
Answer: c) My friend and | went to school.

Choose the correct superlative form:
“Thisisthe __ movie I've ever seen.”
a) good

b) better

c) best

d) most good

Answer: c) best

Fill in the blank:

“If it rains, we ____ stay indoors.”
a) will

b) would

c) shall

d) can

Answer: a) will



Which is the smallest state in India?
a) Goa

b) Sikkim

c) Tripura

d) Manipur

Answer: a) Goa

The capital of Rajasthan is:
a) Udaipur

b) Jaipur

c) Jodhpur

d) Bikaner

Answer: b) Jaipur

How many states are there in India?
a) 28

b) 29

c) 30

d) 27

Answer: a) 28

Which of these is a Union Territory?
a) Haryana

b) Ladakh

c¢) Gujarat

d) Punjab

Answer: b) Ladakh

The southernmost tip of India is called:
a) Kanyakumari

b) Rameswaram

c¢) Kochi

d) Pondicherry

Answer: a) Kanyakumari

Which river is known as the Ganga’s main

tributary?

a) Yamuna

b) Krishna

c¢) Godavari

d) Cauvery
Answer: a) Yamuna

SST:

10.

11.

12.

13.

Which state is famous for tea gardens?
a) Punjab

b) Assam

c) Kerala

d) Maharashtra

Answer: b) Assam

the Thar Desert is located in:
a) Rajasthan

b) Gujarat

¢) Madhya Pradesh

d) Haryana

Answer: a) Rajasthan

Which mountain range forms the northern
boundary of India?

a) Himalayas

b) Vindhyas

c) Aravallis

d) Satpuras

Answer: a) Himalayas

Which festival is known as the festival of lights?
a) Holi

b) Diwali

c) Eid

d) Christmas

Answer: b) Diwali

Who is the head of a state government?
a) President

b) Prime Minister

c¢) Chief Minister

d) Governor

Answer: c) Chief Minister

The national emblem of India has:
a) Two lions

b) Three lions

c) Four lions

d) One lion

Answer: c) Four lions

The highest civilian award in India is:
a) Padma Shri

b) Bharat Ratna

¢) Padma Bhushan

d) Gallantry Award

Answer: b) Bharat Ratna



14.

15.

16.

17.

18.

19.

The national flower of India is:
a) Rose

b) Lotus

c) Sunflower

d) Marigold

Answer: b) Lotus

Who wrote the national anthem of India?

a) Rabindranath Tagore

b) Mahatma Gandhi

c) Jawaharlal Nehru

d) Subhas Chandra Bose
Answer: a) Rabindranath Tagore

The Indian Parliament is located in:
a) Mumbai

b) Kolkata

c) New Delhi

d) Chennai

Answer: c) New Delhi

Who hoists the national flag on
Independence Day?

a) Prime Minister

b) President

c) Chief Justice

d) Speaker

Answer: a) Prime Minister

The national bird of India is:
a) Sparrow

b) Peacock

c) Pigeon

d) Parrot

Answer: b) Peacock

Which leader is known as the “Father of
the Nation”?

a) Jawaharlal Nehru

b) Mahatma Gandhi

c) Sardar Patel

d) Subhas Chandra Bose

Answer: b) Mahatma Gandhi

20.

21.

22.

23.

24.

25.

26.

What is the national game of India?
a) Cricket

b) Hockey

c) Football

d) Kabaddi

Answer: b) Hockey

Which of these is a non-renewable resource?
a) Sunlight

b) Wind

c) Coal

d) Water

Answer: c) Coal

Which soil is best for growing cotton?
a) Black soil

b) Red soil

c) Alluvial soil

d) Sandy soil

Answer: a) Black soil

Mangrove forests are found in:
a) Thar Desert

b) Sundarbans

c) Western Ghats

d) Nilgiris

Answer: b) Sundarbans

Kaziranga National Park is famous for:
a) Tigers

b) Elephants

¢) Rhinoceros

d) Lions

Answer: c) Rhinoceros

Which of these rivers flows into the Arabian Sea?

a) Ganga

b) Yamuna

¢) Narmada

d) Brahmaputra
Answer: c) Narmada

The main occupation of people in villages is:
a) Fishing

b) Farming

c¢) Teaching

d) Mining

Answer: b) Farming



27.

28.

29.

30.

31.

32.

33.

Which city is called the “Pink City”?
a) Jaipur

b) Jodhpur

c) Bikaner

d) Udaipur

Answer: a) Jaipur

Which is the longest river in India?
a) Godavari

b) Ganga

c) Krishna

d) Yamuna

Answer: b) Ganga

Which is an artificial lake?
a) Wular

b) Vembanad

c) Gobind Sagar

d) Chilika

Answer: c) Gobind Sagar

Which natural disaster causes shaking of

the ground?

a) Flood

b) Earthquake

c) Cyclone

d) Landslide

Answer: b) Earthquake

The fastest means of transport is:
a) Bus

b) Car

c) Aeroplane

d) Train

Answer: c) Aeroplane

Which port is located in Mumbai?
a) Kandla

b) Jawaharlal Nehru Port

c) Paradip

d) Cochin

Answer: b) Jawaharlal Nehru Port

The first Indian satellite was:
a) Aryabhata

b) Bhaskara

c) INSAT

d) Rohini

Answer: a) Aryabhata

34.

35.

36.

38.

39.

40.

A letter is delivered by a:
a) Pilot

b) Postman

c) Doctor

d) Driver

Answer: b) Postman

The largest railway network is found in:
a) China

b) India

c) USA

d) Russia

Answer: b) India

Which festival is famous for kite flying?
a) Onam

b) Baisakhi

c) Makar Sankranti

d) Pongal

Answer: c) Makar Sankranti

. The Indian Space Research Organisation (ISRO) is

located in:

a) Hyderabad

b) Bengaluru

¢) Mumbai

d) Delhi

Answer: b) Bengaluru

The national highway connects:

a) Cities within a state

b) Cities of different states

c) Villages and towns

d) Schools and hospitals

Answer: b) Cities of different states

Which is the highest road in India?
a) Manali-Leh highway

b) Yamuna Expressway

c¢) Golden Quadrilateral

d) NH44

Answer: a) Manali-Leh highway

Which invention helped in instant communication?

a) Letter

b) Telephone

c) Radio

d) Telegram

Answer: b) Telephone



41.

42.

43.

44.

45.

46.

Who built the Taj Mahal?
a) Akbar

b) Shah Jahan

c) Babur

d) Aurangzeb

Answer: b) Shah Jahan

Red Fort is located in:
a) Agra

b) Delhi

c) Jaipur

d) Lucknow

Answer: b) Delhi

Who was the first Prime Minister of India?
a) Mahatma Gandhi

b) Jawaharlal Nehru

c) Sardar Patel

d) Lal Bahadur Shastri

Answer: b) Jawaharlal Nehru

The Iron Pillar is located in:
a) Mumbai

b) Delhi

c) Chennai

d) Hyderabad

Answer: b) Delhi

Which dance form belongs to Kerala?
a) Kathak

b) Bharatanatyam

c) Kathakali

d) Odissi

Answer: c) Kathakali

Who discovered India by sea route?
a) Vasco da Gama

b) Columbus

c) Marco Polo

d) Ibn Battuta

Answer: a) Vasco da Gama

47.

48.

49,

50.

51.

52.

Which of these kings ruled the Maurya Empire?
a) Ashoka

b) Akbar

c) Harsha

d) Bimbisara

Answer: a) Ashoka

Harappan civilization is also called:
a) Aryan civilization

b) Indus Valley civilization

¢) Gupta civilization

d) Mughal civilization

Answer: b) Indus Valley civilization

The Jallianwala Bagh tragedy took place in:
a) 1917

b) 1919

c) 1920

d) 1925

Answer: b) 1919

The festival of Bihu is celebrated in:
a) Punjab

b) Assam

c) Kerala

d) Gujarat

Answer: b) Assam

Who was known as the “Lion of Punjab”?
a) Bhagat Singh

b) Lala Lajpat Rai

c) Sardar Patel

d) Subhas Chandra Bose

Answer: b) Lala Lajpat Rai

The gateway of India is located in:
a) Delhi

b) Mumbai

c) Kolkata

d) Chennai

Answer: b) Mumbai



53.

54,

55.

56.

57.

58.

Which is the largest state of India by area?

a) Maharashtra

b) Uttar Pradesh

c) Rajasthan

d) Madhya Pradesh
Answer: c) Rajasthan

The oldest mountain range in India is:
a) Himalayas

b) Aravallis

c) Vindhyas

d) Satpuras

Answer: b) Aravallis

Which river is called the “Dakshin Ganga”?

a) Godavari

b) Krishna

c) Kaveri

d) Narmada
Answer: a) Godavari

Who founded the Indian National
Congress?

a) A.O. Hume

b) Mahatma Gandhi

c¢) Jawaharlal Nehru

d) Bal Gangadhar Tilak

Answer: a) A.O. Hume

Who designed the Indian national flag?
a) Rabindranath Tagore

b) Pingali Venkayya

c) Jawaharlal Nehru

d) Mahatma Gandhi

Answer: b) Pingali Venkayya

Which monument is called the “Victory
Tower”?

a) Qutub Minar

b) Charminar

c¢) India Gate

d) Gateway of India

Answer: a) Qutub Minar

59

60.

61.

62.

63.

64.

. The southern plateau of India is rich in:

a) Tea

b) Coal

c) Petroleum

d) Wheat
Answer: b) Coal

The national tree of India is:
a) Neem

b) Banyan

c) Mango

d) Peepal

Answer: b) Banyan

Which city is known as the “City of Joy”?
a) Mumbai

b) Kolkata

c) Chennai

d) Bengaluru

Answer: b) Kolkata

Which Indian leader gave the slogan “Jai Jawan

Jai Kisan”?

a) Mahatma Gandhi

b) Jawaharlal Nehru

c) Lal Bahadur Shastri

d) Sardar Patel

Answer: c) Lal Bahadur Shastri

Where is Hawa Mahal located?
a) Jaipur

b) Jodhpur

c) Delhi

d) Agra

Answer: a) Jaipur

In which direction does the sun rise?
a) North

b) South

c) East

d) West

Answer: c) East



65.

66.

67.

68.

69.

70.

Which river flows westward into the
Arabian Sea?

a) Godavari

b) Krishna

c) Narmada

d) Yamuna

Answer: c) Narmada

Who was India’s first woman Prime
Minister?

a) Sarojini Naidu

b) Pratibha Patil

c) Indira Gandhi

d) Sushma Swaraj

Answer: c) Indira Gandhi

Which festival marks the harvest in Punjab?

a) Diwali

b) Baisakhi

c) Holi

d) Onam

Answer: b) Baisakhi

What is the main language spoken in
Kerala?

a) Tamil

b) Telugu

c) Malayalam

d) Kannada

Answer: c) Malayalam

Which one is a water animal?
a) Camel

b) Elephant

c) Dolphin

d) Tiger

Answer: c) Dolphin

Who among these was not a freedom
fighter?

a) Rani Lakshmi Bai

b) Bhagat Singh

c) Rabindranath Tagore

d) Jawaharlal Nehru

Answer: c) Rabindranath Tagore
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a) SSATAT
VEIGIE
c) ar@r
d) Ty
Answer: a) SSHTAT



55.

56.

S7.

58.

59.

60.

S T T U, I§ FIAT Shgelldl 877
ORIEGEIG]

b) TR

c) TerdT

d) 31T

Answer: b) IR

“IMAT AT ANGH FHe 7T 827
a) SJeT-379TEd

b) AR-HS

¢) sTdsR-oTeTax!

d) STerrs-facdst

Answer: b) ART-AS

“ehegel” fha Aol & sq B2
a) geraT

b) facel

C) dcdH

d) FesTa

Answer: b) facafr

“Slclel aTell 9&T Siled-ar §2”
a) ardr

b) =TT

c) T

d) Fefder

Answer: a) drdr

“PIA” Asg T Y &

a) sT9I

b) 2R

c) Mg

d) &

Answer: c) g

“R I HART FAT I HeTalT fohdg T
oI &I &7

a) SgIGY

b) =X

¢) HET

d) T

Answer: a) SgTE{l

61.

62.

64.

65.

“FAGT AT BT I AT 82
a) T hlH

b) 3BT Hiepr

c) it &1 @

d) gr

Answer: b) 37TaT Hiehr
“TIEAT QAeg T Y FAT g2
a) hrH AT

b) ST TTE=T

c) I T

d) FER

Answer: b) &ideT grerar

AT FT AT FIT gIem?

a) T

b) GRHT

c) farelr

d) T

Answer: d) Y

“goar & qed O Aler Fia-ar g2
a) grell

b) fearelr

C) STeHATSCHT

d) foraaa

Answer: b) fearelr

“HTH & A, el & a1 372
a) &I oy Th a1y

b) 31 HET

¢) 3TH S

d) 3T el A

Answer: a) al T3 Udh AT

C“STITT A 3ET S[TAT hT 372

a) enfa
b) 3THT-THT
C) TSI drdravl

d) @IS el
Answer: b) 3TFT-dHT




67.

68.

69.

70.

71.

72.

S eI del 38 AT Fhgd 827
a) g1

b) $ATTER

¢) aEETST

d) TreTR

Answer: b) SAER

“YO” Qe AT faelld & g2
a) ST

DESIGH

c) Trereir

d) RSTS

Answer: a) ST

“FTel” T ARG FAT §7?
a) 33T

b) X

c) &R

d) arg

Answer: b) =X

“HIST T FIT &gl Il §2”
a) 91

b) g&TeT

¢) g&iY

d) sha

Answer: b) &9TeT

“Hster” foRe Fga 82

a) IS UgeTell

b) 9TeiT dleT

ECIGINKCIL]]

d) WefeT

Answer: c¢) dTdT Tl
“hel” fhdenT TSI Pel 572
ORUERIGH

b) 8T

c) SuTer

NEIGED

Answer: b) #d




Logical Reasoning:

Which number comes next in the series: 2,
4,8,16,7°

a) 18

b) 24

c) 32

d) 36

Answer: c) 32

If CAT = 24 and DOG = 26, then BAT =7
a) 21

b) 23

c)22

d) 25

Answer: a) 21

Find the odd one out: Lion, Tiger, Wolf,
Cow

a) Lion

b) Tiger

c) Wolf

d) Cow

Answer: d) Cow

If1=A,2=B, 3=C, what does 12 mean?
a) AB

b) AL

c)LB

d) BC

Answer: b) AL

Which number replaces the question mark:

5,10, 20,40, ?
a) 45

b) 60

c) 80

d) 70

Answer: c) 80
Which shape has no corners?
a) Square

b) Triangle

c) Circle

d) Rectangle
Answer: c) Circle

7.

10.

11.

12.

How many sides does a pentagon have?
a)4

b) 5

c)6

d)8

Answer: b) 5

What comes next: Monday, Tuesday,
Wednesday, ?

a) Thursday

b) Friday

c) Sunday

d) Saturday

Answer: a) Thursday

Ravi is taller than Amit but shorter than Raj.
Who is the tallest?

a) Ravi

b) Amit

c) Raj

d) Can’t say

Answer: c) Raj

Which number is missing: 3,6, 9, ?, 15
a) 10

b) 12

c)13

d)11

Answer: b) 12

Which figure is different: @, A, @, 4
a) @

b) A

®

d) a

Answer: c) @

Which clock shows the time 3 hours after
9:00?

a) 10:00

b) 11:00

c) 12:00

d) 1:00

Answer: c) 12:00



13.

14.

15.

16.

17.

18.

If a square has 4 sides, how many sides
do 3 squares have?

a) 12

b) 9

c)8

d) 10

Answer: a) 12

How many legs do 3 dogs and 2 cats
have?

a) 10

b) 12

c) 16

d) 20

Answer: d) 20

Find the odd one: Apple, Banana, Carrot,

Mango

a) Apple

b) Banana

c) Carrot

d) Mango

Answer: c) Carrot
5+7?=12

a)5

b) 6

c)7

d)8

Answer: c) 7

How many letters are in the word
“MATHEMATICS"?

a) 10

b) 11

c)12

d) 13

Answer: b) 11

If you have 3 red balls and 2 blue balls,
how many balls in total?
a)4a

b) 5

c)6

d)7

Answer: b) 5

19.

20.

21.

22

23.

24.

Which animal does not have wings: Parrot, Eagle,
Bat, Cat

a) Parrot

b) Eagle

c) Bat

d) Cat

Answer: d) Cat

Which number is greater: 25, 52, 35, 45

a) 25

b) 35

c) 45

d) 52

Answer: d) 52

Which number comes next: 7, 14, 21, 28, ?
a) 34

b) 35

c) 36

d) 40

Answer: b) 35

. Which shape has 4 equal sides and 4 right angles?

a) Triangle

b) Rectangle

c) Square

d) Circle

Answer: c) Square

Which is heavier: 1 kg of cotton or 1 kg of iron?
a) Cotton

b) Iron

c) Both equal

d) Can’t say

Answer: c) Both equal

Which number is missing: 81, 72, 63, ?, 45
a) 44

b) 54

c) 53

d) 55

Answer: b) 54



25.

26.

27.

28.

29.

30.

Find the odd one: Knife, Spoon, Fork, Plate
a) Knife

b) Spoon

c) Fork

d) Plate

Answer: d) Plate

If a clock shows 3:15, what will it show
after 1 hour 30 minutes?

a) 4:45

b) 5:15

c)4:30

d) 5:45

Answer: c) 4:45

Which letter is 5th from the left in the
word “ELEPHANT”?

a)A

b)H

c)P

d)E

Answer: c) P

Arrange in alphabetical order: Mango,
Apple, Banana, Grapes

a) Mango, Apple, Banana, Grapes

b) Apple, Banana, Grapes, Mango

c) Banana, Grapes, Mango, Apple

d) Grapes, Mango, Apple, Banana
Answer: b) Apple, Banana, Grapes, Mango
Find the odd one: Monday, Tuesday, July,
Thursday

a) Monday

b) Tuesday

c) July

d) Thursday

Answer: c) July

Which figure is different: [, », I}, B
a) M
b) a
c M
d 1R

Answer: b) A

31.

32.

33.

34.

35.

36.

37.

How many hours in 2 days?

a) 24

b) 36

c) 48

d) 72

Answer: c) 48

If 3 pens cost X15, how much will 6 pens cost?
a) X20

b) X25

c) 330

d) X35

Answer: c) 330

Which number is half of 1007?

a) 25

b) 30

c) 40

d) 50

Answer: d) 50

Which is not a fruit: Apple, Guava, Tomato, Potato
a) Apple

b) Guava

c) Tomato

d) Potato

Answer: d) Potato

Which is not an even number: 2, 4, 6,9
a)2

b) 4

c)6

d)9

Answer: d) 9

A square has 4 sides. How many sides do 5 squares
have?

a) 15

b) 20

c) 25

d) 30

Answer: b) 20

Which is the smallest: 0.9, 1, 1.1, 1.01
a)l

b)1.1

c)1.01

d)0.9

Answer: d) 0.9



38.

39.

40.

41.

42.

43.

Which letter comes between Land N?
a)M

b) O

c)K

d)J

Answer: a) M

How many vowels in the word
“EDUCATION"?

a)5

b) 6

c)7

d)8

Answer: c) 7

If 4 children can finish a task in 2 hours,
how long will 2 children take?

a) 2 hours

b) 3 hours

c) 4 hours

d) 1 hour

Answer: c) 4 hours

Which number is smallest: 12, 21, 15, 11
a) 11

b) 12

c) 15

d) 21

Answer: a) 11

Which animal is different: Dog, Cat, Cow,
Eagle

a) Dog

b) Cat

c) Cow

d) Eagle

Answer: d) Eagle

How many wheels on 3 bicycles?

a)4

b) 6

c)8

d)9

Answer: d) 6

44,

45.

46.

47.

48.

49,

50.

Find the odd one: Rose, Lotus, Mango, Lily
a) Rose

b) Lotus

¢) Mango

d) Lily

Answer: c) Mango

If you face north, turn right, then left, which
direction are you facing?

a) East

b) South

c) West

d) North

Answer: a) East
If7+4=11,then7+4+2="7

a) 12

b) 13

c)14

d) 15

Answer: c) 13

Which day comes before Wednesday?

a) Tuesday

b) Thursday

c) Friday

d) Monday

Answer: a) Tuesday

Which is the largest number: 231, 213, 321, 312
a) 231

b) 213

c) 321

d) 312

Answer: c) 321

Which number makes the equation true: ? + 10 =
25

a) 10

b) 15

c) 20

d) 25

Answer: b) 15

Find the odd one: Pencil, Eraser, Sharpener, Paper
a) Pencil

b) Eraser

c) Sharpener

d) Paper

Answer: d) Paper



51.

52.

53.

54.

55.

56.

Which shape has 3 sides? 57
a) Square

b) Triangle

c) Rectangle

d) Circle

Answer: b) Triangle 58
How many hours in 3 days?

a) 48

b) 60

c)72

d) 96

Answer: c) 72

Which is the missing number: 4, 9, 16, 25,
?

a) 30

b) 35

c) 36

d) 40

Answer: c) 36

Which letter is 3rd from right in
“ELEPHANT”?

a)H

60.

b) A 61.

c)N

d)T

Answer: c) N

Which figure is different: [, I, B, @

b) I

c) W

d) @

Answer: d) @

Which number is double of 127?
a) 20

b) 22

c)24

d) 26

Answer: c) 24

63.

59.

. Which direction is opposite to East?

a) North

b) West

c) South

d) East

Answer: b) West

. If a triangle has 3 sides, how many sides do 4 triangles

have?

a)9

b) 10

c) 12

d) 14
Answer: c) 12

How many letters are in the word “COMPUTER”?

a)7

b) 8

c)9

d) 10

Answer: b) 8

Which day comes after Friday?
a) Saturday

b) Sunday

c) Thursday

d) Monday

Answer: a) Saturday
How many corners in a rectangle?
a)3

b) 4

c)5

d) 6

Answer: b) 4

Which is bigger: % or %?
a) %

b) %

c) Both equal

d) Can’t say

Answer: b) %

If 1 week =7 days, how many days in 3 weeks?

a) 14
b) 15
c)21
d) 24
Answer: c) 21




64.

65.

66.

67.

68.

69.

Which number is missing: 10, 20, 30, ?, 50
a) 35

b) 40

c) 45

d) 55

Answer: b) 40

Which is different: Aeroplane, Bus, Car,
Cycle

a) Aeroplane

b) Bus

c) Car

d) Cycle

Answer: a) Aeroplane

Which is heavier: 100 gm or 1 kg?
a) 100 gm

b) 1 kg

c) Both equal

d) Can’t say

Answer: b) 1 kg

How many months have 31 days?
a)5

b) 6

c)7

d)8

Answer: c) 7

Which letter comes before E?
a)D

b) F

c)C

d)B

Answer: a) D

Which number is greatest: 85, 58, 95, 75
a) 85

b) 58

c) 95

d) 75

Answer: c) 95

70.

71.

72.

73.

74.

75.

Which shape has no straight lines?
a) Square

b) Triangle

c) Rectangle

d) Circle

Answer: d) Circle

If 1 hour = 60 minutes, how many minutes in 3

hours?

a) 90

b) 120

c) 180

d) 240
Answer: c) 180
Which is the missing number: 2, 5, 10, 17, ?
a) 24

b) 26

c) 28

d) 30

Answer: b) 26

Which object is different: Chair, Table, Bed, Spoon

a) Chair

b) Table

c) Bed

d) Spoon

Answer: d) Spoon

Which is the opposite of Left?
a) Down

b) Up

c) Right

d) Back

Answer: c) Right
If4x5=20,then5x4="
a) 10

b) 15

c) 20

d) 25

Answer: c) 20



